Transformation of Curves

[image: image1.png]On separate diagrams, sketch the graphs of

(@) y=(@+37

(8) = (x+3) +k, where k s a positive constant.

Show on each sketeh the coordinates of each point at which the graph meets the aes.
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Figure 1 shows a sketch of the curve with equation

@ mzsepmmd:agtmskﬂchmmevaﬂlupanmy:%

showing the coordinates of any point at which the curve crosses a coordinate axis.
®

L x=-2

(b) Write down the equations of the asymptotes of the curve in part (2)
@
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Figure 1 shows asketch of the curve with equation y = ). The curve crosses the -
atthe points (1. 0) and (4, 0). The masimum pointon the curve s Q2. )

In separae diagrams sketch the curves with the following equations.

On each diagram show clearly the coordinats of the maximmum point and of each poin
which he curve crosses the x-axs.

(@ y=2f0).
® y=1e0)

‘The maximum point on the curve with equation y = &+ a) s on the -axis.

(¢) Wite down the value of the constant a.




[image: image6.png]10. The curve C has equation
y=(+H-17
() Sketch C showing clearly the coordinates of the points where the curve meets the
coordinate axes
“@
(b) Show that the equation of C can be written in the form
y=rexoSuek,

‘where ks a positive integer, and state the value of k
@

‘There are two points on C where the gradient of the tangent to C is equal to 3.

() Find the x-coordinates of these two pois.
©
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Figure 1 shows a sketch of the curve with equation y = f(x). The curve passes through the
‘poiat (0, 7) and has a minimum point at (7, 0)

On separate diagrams, sketch the curve with equation

@ y=fw=3.

®
© y=129

&)

On each diagram. show clearly the coordinates of the mininum point and the coordinates
of the point at which the curve crosses the }-axis
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Figure 1 shows a skefch of the curve C with equation y = 9. There is 2 masimum at
(0:0).a minizmm at Q. -1 and C passes through 3. 0

On separate diagrams sketch the curve with equation.

@ y=fx+3),

@)
® y=1e0)

@

On each diagram show clealy the coordinates of the masimum point, the minimum point
and any points of infersection with the x-axis.




[image: image9.png]5. The point P (1. a) lies on the curve with equation y = (x + 1’2 ~x).

(a) Find the value of .
@

(b) On the axes below sketch the curves with the following equations:
@ y=E+1Q-x.
2
@ r=3
On your diagram show clearly the coordinates of any points at which the curves meet
the axes
®
() With reference to your diagram in part (b) state the number of real solutions to the
equation
2

(-0 =1

®




[image: image10.png]10. (2) Factorise completely ' - 62 + 9
®

(%) Sketch the curve with equation
yeroaieor

showing the coordinates of the points at which the curve meefs the x-axis
@

Using your answer to part (b), or otherwise,
(©) sketch, on a separate disgram, the curve with equation
P=G=-2- 6= 2+ 9-2)

showing the coordinates of the points at which the curve meets the x-axis.
@
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Figure 1 shows a sketch of part of the curve with equation = (x).

‘The curve has a maximum point (-2, 5) and an asymptote y = 1, as shown in Figure 1.

On separate dingrams, sketch the curve with equation

@ y=f)+2

@
(b) y=4fx)

@
© y=f+1)

[©)

On cach diagram, show clearly the coordinates of the maximurm point and the cquation of
the asymptote.




